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	Table x.1.: Segal/Cover Scores; Goodness-of-Fit,1946-2004  

	Classification Table
	Goodness of Fit
	Classification Plot

	
	1
	0
	MCT
	R2L
	PRE
	WtPi
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	+
	10867
	6105
	16972
	0.067
	0.24 (Tau-p)
	N/A
	

	-
	5632
	8445
	14077
	
	0.19 (Lam-p)
	
	

	MRT
	16499
	14550
	31049
	
	0.24 (Phi-p)
	
	

	Table Legend:

1 = true liberal; 0 = true conservative; + = classified liberal; - = classified conservative; MCT = Marginal Column Totals; MRT = Marginal Row Totals;  R2L = Likelihood Ratio R-squared; PRE = proportional reduction in error; WtPi = Weighted Polarization Index; Phi-p = (expected frequencies derived from marginal cell totals). 
	


	Table x.2: Segal/Cover Scores; Regression Coefficients, 1946-2004. 

	Variable
	Coeff
	SE
	z
	P
	Odds R
	KDV*
	min-max
	0(1
	ME

	Segal/Cover Scores
	.9448
	0.0184
	51.47
	0.000
	2.572
	0.417
	0.4387
	0.2133
	0.2350

	_cons
	.1264
	0.0119
	10.60
	0.000
	1.134
	0.3158
	*
	*
	*

	Legend: _cons = The probability of Y if X = 0; Coeff = Regression coefficient(s); SE = Standard Errors; z = z scores; P = Statistical Probability (95% confidence interval, two-tailed test); Odds R = Odds Ratio; KDV = Key Discreet Values (top cell: the total discreet change in the value of Y as X increases from its minimum to maximum in increments of 10%; bottom cell: the value of Y where X =-1);  min-max = Change in predicted probabilities as X goes from minimum to maximum value; 0(1 = Change in predicted probabilities as X goes from the value of 0 to 1; ME = Marginal change in predicted probabilities.


